SAP ABAP table PO2VS 5CA9 KEY {Table Key 5CA9}
P02VS_5CA9 KEY-MANDT = T000-MANDT

—_— =T
—_
—

0..N

- - 0.N

—_

e . PO2VS 5CA9 KEY-MOLGA = T500L-MOLGA

\ "~ _ PO2VS 5CA9 KEY-EGMTD = T5CALI-EGMTD |

~

0..N

TOO0O

MANDT [CLNT (3)]

T500L

MOLGA [CHAR (2)]

T5CA2

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

APPLI [CHAR (2)]

VALTY [CHAR (4)]

T5CA4

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

APPLI [CHAR (2)]

PPLAN [CHAR (2)]

T5CA6

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

APPLI [CHAR (2)]

METHD [CHAR (2)]

T5CAI

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

APPLI [CHAR (2)]

PPLAN [CHAR (2)]

EGMTD [CHAR (2)]

T5CBY

MOLGA [CHAR (2)]

APPLI [CHAR (2)]




